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Question Number : 1 Question Id : 7164471651 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

The earliest stone tools from Indian subcontinent are discovered from which of the following regions?
PGB0 GV Mol FD v°B DDV 00 D FroTre Wl ST HeE=0?

Options:
Belan Valley, Uttar Pradesh

1 = Derd 49, EB0HDT



Hiran Valley, Gujrat

7« 2FTeD a:g@), Maoed

Narmada Valley, Madhya Pradesh
3 O 750, NS

Potwar Plateau, Pakistan

4 v (6 DEHUT, FEFO

Question Number : 2 Question Id : 7164471652 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following tool making techniques is a ‘prepared-core’ technique?
Sod DAL BoITd agmg’ D06-F6 (80irddnd-Ed) B35 DB

Options:
Acheulian

1. & Ordao

Levallois

2 o Ua“e;ﬁmji)

Mousterian

3 % wgamé

Oldowan

4 ® 5.1%?303”5

Question Number : 3 Question Id : 7164471653 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following scholars is NOT associated with the study of Bhimbetka paintings?

306 Dodehrers” efi)c:@e.}ﬂb QBCDTO 50NN okt AT TPm JDW?

Options:



ACL Carlleyle
D055 5705

Erwin Neumayer

2 % ;)655 m@amﬁ

VS Vakankar
3. % DoD TrEess

Yashodhar Mathpal
4. x oLFG6 EFS

Question Number : 4 Question |d : 7164471654 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66
Which of the following sites has demonstrated the presence of a habitation site directly associated with ash mounds?

BIPC.E DGR (0Ird O ooy )& D Doexodio &) DR arodo &3 Sod PoTo” D& Darnodod?

Options:
Budihal

1. v e0éifes

Piklihal
7 % ﬂ:n%ﬁjﬁeﬁ

Utnur

3 % Eﬂlﬁlﬁ

Kupgal
4 = L85

Question Number : 5 Question Id : 7164471655 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66



Which of the following is one of the southern-most sites of the Harappan civilisation?
208 e E:Ft'{ji}“:} SEELEe VO RN IS AL T Frefal. o D6?

Options:
Alamgirpur

1. % ©000EIPE

Malvan

2 o m@55

Manda
3 % ok

Sutkagen-dor

4 = ‘&33@“&63.5—55

Question Number : 6 Question Id : 7164471656 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following Harappan cities consisted of three parts — the citadel, middle town and the lower town?

306 EPCS&)“J Do°eS” B Deraed, DG 37D SB0IL S°0DS6 ETD 9D DT FTTPeD &) 007

Options:
Dholavira

1 v Sodo

Kalibangan
7 % Sdeorro

T othal
3. % &TS

Surkotada

4 % @ﬁbﬂ?ﬁ



Question Number : 7 Question Id : 7164471657 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following scholars considers the sudden decline of Harappan Civilisation due to floods in which uplift
appears to have played an important part?

DD (e92i5c0M0) DA G PN, HOCKRL SCOROTT TGy TI0SS e8I aTT Loty 20b

Dodares Dam HBDocd?

Options:
George F. Dales

1. « aaﬂg O3eD. E:‘:eﬁ:l

MR Mughal
7 % afooesd DTved

MR Sahni
3 v ofooesd 5“?}214

Walter A. Fairservis. Jr.

4 % o706 3 DOoNGIBLD &

Question Number : 8 Question Id : 7164471658 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following scholars has expressed doubt about the identification of certain structures at Harappa as
granaries?

Oy DG EDy Shcmosn TFH0en (Tra5e Few ) (hfocscop Sod Doceioed” Do Modaro Dfgo IFD?
Options:

Bridget Allchin and Raymond Allchin
1. = @QES EB&.% a080in Gavol Eﬁ@a%

JM Kenover
7 « Sovo SSond



JH Marshall
3 % Ry L mgeﬁ

REM Wheeler
4. % esb&0io Db

Question Number : 9 Question Id : 7164471659 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

The earliest use of iron at Ahichhatra is attested from the level.

£I0IPSSE G QAL L), FY &daTrwo 700 006 (DEO0IRIC06.

Options:
BRW

i}ﬁﬁcﬁg__;%

NBPW

ain.%ijﬂ:«czg.pg

PGW
e i
=

4, v

Question Number : 10 Question Id : 7164471660 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following inscriptions invokes certain gods having close affinity with Vedic divinities?
& 300 TOTY IO PO BOBOE DI S Doeodo EBAPD) PBFE BDYRD FrGawod?

Options:
Behistun Column Inscription of Darius

1 « B0 GI0E); TP 5PV FoD0



Boghazkoi Liongate Inscription

3 eﬁérwéfbcm 0O TFH0

Nagsh-i-Rustam Inscription of Darius

3 % B0 CIE); AE-Q-0R0 FZRM0

Persepolis Inscription of Xerexes

a?_,ab:}fo aBooE), bﬁﬁﬁﬁﬁﬁfa TR0

4,

Question Number : 11 Question Id : 7164471661 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following terms implied a trade centre where merchants were expected to break the lid or seal of their
merchandise?

TPgeren 70 DEODY Sy T Ao DbeEGer 3 ordag Sogrd) 08 DO’ A& APDH?
Options:
Agganagara

1. = E'_Erga’)ﬁ{j

Nagaraka
7w &HO0S

Nigama

3w D

Putabhedana
A o DOBED

Question Number : 12 Question Id : 7164471662 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following places represents the site of the oldest city of Taxila?
306 PATOS” BLIO Y, WTBD Aico 308, Derdy 6 AFD0H?

Options:



Bhir Mound
1' v é]@ aFol

Saraikala

7w OO

Sirkap

3w om0

Question Number : 13 Question Id : 7164471663 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following chief is said to have defeated a confederation of ten kings?

3oOT°HE” I DO SVod TPere SPDND LHE0DHLD DEDTPEH?

Options:
Devasravas

1. & BTRT

S

Devavata

7w Do

Divodasa

3 % OITD

Sudasa

] v 2D

Question Number : 14 Question Id : 7164471664 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66



Which of the following pair (word-meaning) is matched correctly?
30 To63° DA DO 2 (Dso-eago) S &obd?

Options:
Sira — Plough

1. & 26 -=a®

S1ta — Furrow marks

% 2365 - rOTreD @::ﬁjam

Srini — Ploughshare

3 x 3D - 4O (THOEE)

Suna — Sickle

A = ‘oo - Edod

Question Number : 15 Question Id : 7164471665 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following terms in Rigveda implied a prosperous person?
2007¢3085° S0d DFOS” A& 2B Dot HFED WPD0S?

Options:
Krishnatvach

1 % 5&%@5{5

Krishnavach
2 “ S&%‘J‘E&é

Maghavan

3 v IO



Mridhravach
4 = DIGOD

Question Number : 16 Question Id : 7164471666 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following scholars considers the Mandala X of the Rigveda as ‘the great appendix’?
206 Dodeee” Do mﬁgﬁoeﬁﬁr‘?} X vocterdy Hody eodueocio(d §65 eodsy) m e ?

Options:
FBJT Quiper

1 » C0DDE 5506

F Max Muller
% % oo méb aed

Hermann Oldenberg

3 % Wéé &gémg

Michael Witzel
4 o D035 DS

Question Number : 17 Question Id : 7164471667 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following text does NOT present a list of Mahajanapadas?

206 Tr0eS° DO sLDfERNNEEY DR SToCNCSS D ?
Options:
Anguttaranikaya

1. & ©OLSTEISOL

Ashtadhyayi
I EL‘JQ“E;S“}SDJJ



Bhagavati Sutra

3 x BODA DG

Mahabharata
4w &0Dfrcs

Question Number : 18 Question Id : 7164471668 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

In which of the following text, we come across the earliest occurrence of the term Asprishya in the sense of a social
group that was condemned by virtue of birth to be regarded as permanently untouchable?

306 @ aritoes, T (OO 0RT-DTOT DOIdocseIe SDANSE D0C0CIRICH 208 FPATERE DI aB0s),
E03508" B0YF] BN DGO GIVE), 'O DoDOLDR Do BT ?

Options:
Apastamba Dharmasutra

1. = 89507 08) tﬁd&t«”&}“@

Baudhayana Dharmasutra

7 % E'.T%‘-Gj}“ﬁ') Gﬁﬁéﬁ}]ﬂ@

Vasishtha Dharmasutra

Deda) Gi) Soeed
3 = Rt Ttk

Vishinu Dharmasutra

4. v ey O TE

Question Number : 19 Question Id : 7164471669 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following pair (Term-Meaning) is NOT matched correctly?
Sof TredeS” o) aed (famm—@gm} Sleleg m&@fuamc:ej’m?

Options:



Nalakara — Reed Worker
1 = Heses - B& 20),6 (Bew HDAT)

Papanika — Shopkeeper
7 % OIS - COSTEEEED

Sarthavaha — The leader of the caravan traders

3« ﬁvgmfm - 200638 HOHL TFOIEIED

Yanakara — Ivory Maker
4. v 0IFESTRE - DR0HGomre SaIrPETTEED

Question Number : 20 Question Id : 7164471670 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following was developed into the theory of Sapta-Bhangi-Nava (the seven-fold nayas)?
30bTOS” DR-Eof-da1r (MDD HIrR) ‘?Q%j“o?:‘mﬁ“ DO Soertod D67

Options:
Anekantavada

1. v eRgotrae

Ariya-sachchani

2 " @50:&3—‘&355“;}3

Atthanga-Magga
g i OTor

Patichcha-samuppada

4 = meﬁaa—mmﬂvnm

Question Number : 21 Question Id : 7164471671 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66



Which of the following scholars first suggested that Seleucus gave his daughter to Chandragupta following the treaty
between them?

0 QDY 255040650 BHTPSD VTSR B LPGRD SSoGDNDS Q6D S0 Dodeneed” DM D)
RArLoTrd?
Options:
BN Mukherjee
1 DaiHD Aanad
, &

HC Raychaudhuri
7w o0 GI6bd

Romila Thapar
3 % Toer oodb

Vincent Smith

4 w:.-"? BEIDOES ﬁ}&lﬁ

Question Number : 22 Question Id : 7164471672 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following sites has a stone portrait of Mauryan king Ashoka along with his inscribed name?
ST Toer F DO T DZof Jren 8D BE D TrEDW SHAHD) DB IB?

Options:
Amravati

1. % essnorod

Kanaganahalli

9 g SITPITY



Sanchi

4. % Jrod

Question Number : 23 Question Id : 7164471673 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following pairs (term appearing in Ashokan Inscription — meaning) is NOT matched correctly?

B0 rded” O a0 (e9F 5D FeraEndee D Doaw - tﬂgo] 0rF ‘@ﬁﬁ“ugmmjm?

Options:
Ayaputa — Person of noble lineage

1 o CODDS - FDy Dovgve SBAD 53

Parisa — Council of ministers

7 % DO - odow avocd

Pulisa — Roval functionaries

7 « PH - oo E‘”Gﬁgﬂ“ﬁ"w

Rajuka — A district level officer with power to punish and reward

4 x TS - 3£ 0BOID eITVEDS Ay WO 0 G BT .gﬂo:o IR o)

Question Number : 24 Question Id : 7164471674 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following pairs (term occurring in Arthashastra — meaning) 1s NOT matched correctly?
B0& TBS” D @ (9gFTHoS D Do - e9go) B DOTONRIETE?

Options:
Abhutapurvam — Virgin area

1. = @@“@WG&G - ag.% 2003F

Bhutapurvam — Erstwhile habitat
7 % ﬁﬁ@?&g}nﬁso - ?{3005@ ~JaI"RI0



Janapadanivesa — Forcibly carrying people from elsewhere

g , FOOEIDI - VDT QOGS T oG HROD BLHDVEO

S1ta — Crown land

A % OO - D erol

Question Number : 25 Question Id : 7164471675 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

According to Puranic sources, who among the following was the founder of the Andhra dynasty?
DHTLFL) DATFEFC0 25700, S0d o0 esog Trad0T “coog““&:né;mw DID?

Options:
Khubiraka

1. = ©DcE

Simuka

Satakarni

3. % ?"'@52

Nahapana
A, % QB0

Question Number : 26 Question Id : 7164471676 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following is considered the first inscription in Indian history that associates certain specific privileges and
exemptions with a gift of land?

S0bTBe, §) HBF) BASTED B0 HF TP DOFCoE LrED 2PCA0D SBBS°D VG FTHI0 IO?

Options:
Hathigumpha inscription of Kharvela

1 = BT O30E), N0 TR0



Nanaghat cave inscription of Naganika

% u e b = ::fmsb TR ATED (T TR0

Nashik cave inscription of Gautamiputra Satakarni

3 v FSI0DG TS50 s, T35 (Har T2

Nashik inscription of Gautami Balashri

4 x (O ey GI0E), T3S TON0

Question Number : 27 Question Id : 7164471677 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following place has life-size relief sculptures of Satavahana rovalty?
806 PAETOS” FTOTEPD TRD0FRO GIE) BDS DO EENGL FOPNED IE) E &TT) 00?

Options:
Junnar Caves

1. = aemﬂflé (eI

Karle Caves

% % E°§ rDaTeen

Nanaghat Caves

3 ¢ TR (DreD

Nashik Caves
4. = T35 cbaren

Question Number : 28 Question Id : 7164471678 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Gatha Sattasal, a collection of erotic poems, is attributed to which of the following Satavahana king?
B)OTPG DGR DOSLIRD PG VBI0D §08 FBTIFD TrereeS IHBS DO RDEIEDD?

Options:



Hala

Sivaskanda Satakarni

% % %’&jﬁ}a}otﬁ ?@gg

Sivasri

3. % 303

Yajiasrt

4 = ij‘%?a

Question Number : 29 Question Id : 7164471679 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Who wrote the Prayaga eulogy of Samudragupta?
ROEMD CI0E), DOIF Faren DD TFW?

Options:
Harishena

1. v 0%

Ravikirti
7y 0038

Vatsabhatti

REE" DENEID

Virasena
4w DODD

Question Number : 30 Question Id : 7164471680 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66



Which of the following was NOT a Daksinapatharaja defeated by Samudragupta?
800 78¢5 DAWGEDIND BAS” HUPRCO FTD GLEFDGTE T2 TP JDD?

Options:
Damana

1. = a0

Ganapatinaga

7 Oenaar(

Nilaraja

3w Do

Visnugopa

4 = ;'J%p?fﬁ;;

Question Number : 31 Question Id : 7164471681 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following was a district—level administrative unit in Gupta administration?
306 e (DD FrodeS” e .gf'cm HBreT Dertio D7

Options:
Bhukti

1. % 8

Desa

Visaya

3. v SREb

Pafttas

4. % oD



Question Number : 32 Question Id : 7164471682 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following did NOT contribute to the fall of the Gupta empire?
(Do &@a}g@ DTS dod TS DO SEGo SEED ?

Options:
Ambitions of the feudatory powers

1 = HPIPCa] B0 e530ITRD

Economic strain

2 % 505 2oedte

Saka invasions

3 o ¥ Cocairgen

Succession problems

4 “ .ﬁ“d"n}ﬁs “‘n}m‘fbém

Question Number : 33 Question Id : 7164471683 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following places had a Sun temple built by a guild of silk weavers?

20d DTS DED DB 58] Do Voo DB oD Wrd) Barwoho 8 & O DE?

Options:
Bhumra
1. = ARISY
Dashpura
I o OFDO
Gwalior

3« rws&lajjﬁ



Indore
4 = 0E6

Question Number : 34 Question Id : 7164471684 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following Pallava king bore the title of Vatapikonda?
308 DY Trerod’ TrErDEot DO EBA &) T IDW?

Options:
Dantivarman

1. % tﬁoﬁ&f}ﬁéé

Mahendravarman I

9y DO DIPoEDOLD

Narasimhavarman I

3 o DG écﬁ}oﬁﬂﬂﬂdéc'@

Simhavisou

4. % IRlre et

i3

Question Number : 35 Question Id : 7164471685 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Who among the following was the patron of Mahavira, the writer of Ganitasarasangraha?

o6 TS (OIPO Doa G300 9000 aVEPDMD SFNEICD JOMD?
Options:
Amoghavarsha Nripatunga

1 o ©TD0ag Dareidor

Dantidurga

% % tﬁo@ﬁi)%ﬁ



Dhruva Dharavarsha

3' % Cyed Eﬁ“iﬁ&‘)g

Govind III
4. & SorEd BDod

Question Number : 36 Question Id : 7164471686 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following Chinese traveller wrote an account of India titled Ta Tang Hsi yu Chi?
20d o°0e5° @ wrofi 2 0dw © (Ta Tang Hsi yu Chi) D& erGadd) symrodo U700 Dar oIS Jad?
Options:

Faxian

1 " @“éﬁ&“}aé

Wang Xuance

2' % aJ°00) E.'}.)Cﬂ]“é:l

Xuanzang

3' v LpOIroE00

Yijing
A4 = a@2doh

Question Number : 37 Question Id : 7164471687 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following animals was represented on the emblem of the early Chalukyas?
Z0d motodnees’, Jrtods TREHO D) orr DE ATDLIADE?

Options:
Boar

1. v &6 (001 09D Dod)



Fish

Question Number : 38 Question Id : 7164471688 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following temples at Patttadakal is said to be the fusion of southern and northern Indian styles?
DEPESS DG, Sod Barocired” G aboin &6 oS Fene oS ed DN I D&?

Options:
Kashi Vishwanatha temple

1. = oeg iﬁ%ﬁsm@ ese)0300

Mallikarjuna temple
7 u 0P esoido

Papanatha temple

3 ¢ FOTEG eswoio

Virupaksha temple
4. » DOPFE eswob0

Question Number : 39 Question Id : 7164471689 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following Eastern Chalukyan king claimed to have given shelter to a Chola king?
300 BIrGdy TR0y orevered” 2.8 Y Trert) esgoio QEND DTF) DD T JDD?

Options:



Bhima I

1. = 2006 Do

Vijyaditya II
7 % Jotiad E}aaa‘i}“&ejé

Vijyaditya III
3 v Fabiilnty! ;')aﬂo:ij“:f'_}e:&g

Vishmuvardhan I

4. = OGS ahpagmm

Question Number : 40 Question Id : 7164471690 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following Pala ruler held a durbar at Kanauj?
206 Jrer oo’ £T5 DG G076 DOEFODD 6> JSD?

Options:
Devapala

1 & doare

Dharmapala

3 mﬂéﬁﬂv

Gopala
3w Hare

Mabhipala I
4. & Doocsd Sverare

Question Number : 41 Question Id : 7164471691 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66



The members of which of the following social groups acted as scribes?
208 @) Farres Dauratoes D 205D ST Hfdardoerdd?

Options:
Ambasthas

1. = 290LIIED

Boyas
7 % eSoinen

Ganakas
3w OdsHen

Kayasthas

4. » SP000R0eD

Question Number : 42 Question Id : 7164471692 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following text is a commentary on the Yajnavalkvasmrti?
306 oroisreEs” OSrgO) R A8 T do DE?
& U
Options:
Manvarthamuktavalt

1 = mmﬂsg.m}gﬁa@

Mitaksara
7 QOTES

Nandini

3. % HoOD



Smritl Chandrika

~ped Iods
4 = =

Question Number : 43 Question Id : 7164471693 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following text does NOT talk about agricultural matters?

S0 ardsreE D6 ajéaﬂﬂam Dancire Hbod) HoabBoicH?

Options:
Dakar Bachan

1. % 86 e

Khanar Bachan
7w DO e

Krishi Parashara

3 % SR DTIC

Manasara

] v ardhTe

Question Number : 44 Question Id : 7164471694 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

According to Chola inscriptions, which of the following was a loom tax?
S TR 25°00, S0 aredes’ S0MRD DA DB

Options:
Panjupeeli

1. % Doerod

Parutti Kadamai
7 x DO EEDO



Tari Kadamail
R 0 Sl

Tari Pudavai

4w =00

Question Number : 45 Question Id : 7164471695 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following term denoted non-Brahmadeya villages?
300 DEOS” L AONGC ATV IO ATDY0D?

Options:
Kottam

1. % °%°

Nadu

Taniyur

3 % aloind

Vellanvagai

Question Number : 46 Question Id : 7164471696 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following temple was built at the instance of Shembiyan Mahadevi?

0DOITD SVFRD wrairees” & 306 Sareoio DB ocIeICobs?

Options:
Agastyeshvara Temple, Anangapur

@r@f’gd 2320500, 900050

1. ¢



Brihadeshwara Temple, Tanjavur

I« EJ;,EF&:"ESG e9I0T00, ARSI

Nageshvarasvami Temple, Kumbhakonam

3 « mﬁ?&dﬁﬂﬁm ese0100, S0 0

Nataraja Temple, Chidambaram

4. x ST SLOT0, L3050

Question Number : 47 Question Id : 7164471697 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following is a hagiography of Alvar saints?
Sod TS’ a6 FDO SPecirae (Droeeddo) D67

Options:
Divyasuricharitam

1. ¢ &:E}é“ﬂ)ﬁﬂﬁﬁﬂo

Nalayira Divya Prabandham

7 % P00 Badf eI0C30

Periyapuranam

3w b0 TEE0

Tiruttondar Tiruvantai

. % QOForrd Sddod

Question Number : 48 Question Id : 7164471698 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66



Consider the following events in the career of Iltutmish:
1. Victory over Aramshah
2. Victory over Qubacha
3. Victory over Yalduz

The correct chronological order of the given events is:
PESLVSDN FPOISD S0d VoDVLDLR DOIDocsod:

1. esoraarm Daoio
2. a0ercs Daaoido
3. o3rend D Dcio

QNP DODVLNDO GI0E), DTN TTOEICo:

Options:
1. = 1.2,3

2',&? 1:3;:2

Question Number : 49 Question Id : 7164471699 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

In which of the following years was the decision to make Deogiri a second capital taken?
808 D 20deN07" BHNBD Totiad TR AT ATCN\TIS HYaso e‘iamamn‘lm?

Options:
1. « 1327



A % 1334

Question Number : 50 Question Id : 7164471700 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following officials was responsible for recruitment, equipping and payments of army?
?_gé_so ::EJJSET DOITEVE0, DAY ca:;m 08030 DPonwsd Sobd e25e00eT D EPC ST ?

Options:
Ariz-1-Mamalik

1. v ©0E-9-arards

Dabir-i-Khas
7w GDO-9-a07

Darogha-i-Pil
3' % OOD0-g-0¢

Mir-Hajib
A w Dob-iresed

Question Number : 51 Question Id : 7164471701 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following Sultans introduced the branding system (dagh) for the horses?
208 foeraverd” hore 8o erodofd D508 (€A) 0 PDFDHD T JDD?

Options:
Alauddin Khalji

1 v @?@éé gﬁ%

Balban
7 u eav&:aé



Iltutmish
3 % 25000

Muhammad Bin Tughlaq
4. = DRV O DD SIS

Question Number : 52 Question Id : 7164471702 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following pairs (Official(s) in Delhi Sultanate —Responsibility) is NOT matched correctly?
800 as0d’ (4D L0erdees D wdsd (en) - EPG{EeD) DB DO BT ONETE?

Options:
Muhatsibs — Censor of Public Morals

1 = SIS - DDE DIESy W0 (mﬁégg}

Qazi-ul-Qazzat — Head of the Judicial Department

I % red-ae5-apd - SE(CeVICEVETIA IS TAS

Sadra-i-Jahan — Incharge of Ecclesiastical Department

3 % RIP-Q-2050 - SOSDOO) TP L) VT

Wagqil-i-Dar — Incharge of Ceremonies at Court

4 v 58e5-9-t°6 - %“g)e_"} EDTTV ANETY

Question Number : 53 Question Id : 7164471703 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following officers was the head of the intelligence department?
S06 bz’ Q0BDBIY T G{ED JDD?

Options:

Barid-i-Khas
1. v 2066-9-272



Dabir-i-Khas
7w GDO-9-arD

Malik-ut-Tujjar
3« DrD5-6e5-a0ab

Shuhna-i-Mandi
4 % m@l—@‘mﬂi

Question Number : 54 Question Id : 7164471704 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66
Which of the following travellers to India has said that permission from the Sultan had to be taken for the performance of Sati?

2D TTDS WS o RIS GLEHVD 0B PCBETIS DD $00 AIFAHOS” JDW DYD?

Options:
Abdur Razzaq

1 = @%JJE- dam§

Ibn Batutah
7 TAEDR eI

Nicolo Conti
3 = FS Fod

Nuniz
4 = 2rDE

Question Number : 55 Question Id : 7164471705 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following rulers set up a new department *Diwan-i-Kohi'?
200 07065 B¢ 7= 90000 ‘Bard-2-Fa@ D Jom DD‘“‘QEJ_'} oaecn?

Options:



Feroz Shah Tughlaq
1 = D8Saroogs

Ghivyasuddin Tughlaq
7 % glevurablatsRatlels

Muhammad Bin Tughlaq
3 v D) O DD SIS

Nasimddin Mohammad Shah

4 x aﬁ&mgé D000 B ar

Question Number : 56 Question Id : 7164471706 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following pairs (Saint — social background) is NOT matched correctly?
206 2305 D6 (owotd (o) - TFarel DDG0) DO maﬁﬁeﬁmmﬁm?

Options:
Namadeva — Weaver

1. ¢ a0 — &fugﬁ

Ravidasa — Cobbler
2w GedTIrd — am:jw Saega“m

Sadhana — Butcher
3w TS EFra T

Sena — Barber

4 = 20D aoid e

Question Number : 57 Question Id : 7164471707 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66



At which of the following places was Guru Nanak born?
20d D PBTOS” MO TIE 2 oTT®?

Options:
Batala

1 = erore

Kartarpur
7w 5T

Sultanpur Lodi
3 & 0FIN6 SO

Talwandi

4 v DZ'T’E_J:)OEE;

Question Number : 58 Question Id : 7164471708 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following was NOT an area of contention between Vijaynagar and Bahmani rulers?
206 r6e5° D00 SOOI LIEPY) PO 0G| Darco S o0 DO?

Options:
Krishna-Godavari delta

1 = SN HTorod Dooed Jrodo

Krishna-Tungabhadra Doab
7 % S BooiHE 0B

Malabar Coast
2 v Sooerd dco



Marathawada country

4' ® EﬁJU“U“S{i U“Eﬂu}SO

Question Number : 59 Question Id : 7164471709 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following rulers married his daughter to Bahamani ruler Firuz Shah following a defeat?

808 arefHnd”, L0 BaRH 68 OATTL LD POHED DME P Dararo @000 P Jatd?

Options:
Deva Ravyal

1. v 20068 dooeoi

Deva Ravya 11
7 % Dot DOTPOD

Hari Hara II
3. % Dotsd arbars

Sadashiva Raya

4. = Hordod ool

Question Number : 60 Question Id : 7164471710 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

To which of the following dynasties did Krishna Deva Rayva belong?
808 Trad0TOS” S BHT0H B3 DodD TW?

Options:
Aravidu

1. & e0d

Saluva

7w Jrend



Sangama

3. % Doffaw

Tuluva

] v 0%0D

Question Number : 61 Question Id : 7164471711 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Who led the army of Vijaynagar in the battle of Bannihatti?

e 378 D:ingoeﬁﬁ DRODAAC DALY E00CD0E DEDODDE IDHD?

Options:
Achuthappa Nayak

1. = @ﬁj}g@i}b oS

Rama Rava
7 TPaTPOD

Sadasiva Raya
3 % 2DordH Trob

Tirumal Deva Raya

4 % S GHoral

Question Number : 62 Question Id : 7164471712 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66
Which of the following monuments is considered the best example of the florid magnificence of the Vijaynagar style?

DRODJAC 3D GI0E); ©90"8E TS Sobd TrOS” IO Fr 08 D ot JenRod?
Options:
Hazara Rama temple

ayaed TraaTee0d00
®



Krishnasvami temple
I« SnPrDo esvo0

Virupaksha temple
3. % DOPIRE es00D0

Vitthalasvami temple

4 v Eﬁﬂﬂﬂﬂg& egeI00

Question Number : 63 Question Id : 7164471713 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following was appointed as Wakil Mutlaq following the death of Humayun?

EPOATPOIDA SDCEFH0BG0 308 085" H3e5 SNBSS DODHDVOIIEDS TPE JadED?

Options:
Abul Muali

1. % ese0e5 &7

Bairam Khan

Munim Khan

3w awdo are

Tardi Beg
4 % FT‘Q Ale)

Question Number : 64 Question Id : 7164471714 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66



Consider the following events in the life of Babur:
1. Battle of Chanderi
2. Battle of Ghagra
3. Battle of Khanua
4. Battle of Panipat

The correct chronological order of the above events is:
eead BDe3065°D) 308 DoIVLPOX HBRDoSA:

1. oid ::m;go
2. nITr ctmigo
3. araooe mgo
4, FIDED CIDGO
&3 @
2 R0DVODO AIE), VTR SVEITICo:

Options:
1. = 1,2,4,3

9 x 1,3,4,2

3 x 41,32

I

4 v 43,1,

Question Number : 65 Question Id : 7164471715 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Under which of the following Mughal rulers, revenue and financial affairs were separated from the office of vakil?

308 2 DXV TFOHe rerdes, ODAT D0O0ID €508 DfdFTReD HSe5 Toejoob0 Aol DO BSoDergan?

Options:
Humayun

1. = mémmé

Akbar



Jahangir
3 % 237006

Shahjahan
4, » 2t

Question Number : 66 Question Id : 7164471716 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

In which of the following years was the dual rank system of Mansabdars introduced by Akbar?
208 D mom:aﬁmmﬁ“ﬁ 9550 ADDVEVTTY BLoc U705 (roooen) DIV PDTDEPD?
= @ [l &
Options:
th _ R
11™ regnal year

1 = & o8 "n::ou“b@btia

18™ regnal year
% % 1805 ore3ds PoeGo

24t regnal year

3 % 24 orobs ‘rboajejl}do

40t re gnal year
4 v 405 Trobs P0dS\Go

Question Number : 67 Question Id : 7164471717 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following was a category of Raivyati tenants?

200 T°S° ToDD SenTrde Hgo IO?

Options:
Dhani

1. v &2



Gaonvetl
7 % OO

Mirasi

Question Number : 68 Question Id : 7164471718 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following terms was NOT used for common law wives?
308 DS’ TR ° DOy Fdo EDATHoSCDS IO?

Options:

Khalsa

1. % ¥

Khawas

Saheli

A D

Question Number : 69 Question Id : 7164471719 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following terms was used for managers of the ships during Mughal period?
DOUVEDY BP08S LG DTGEPOVD §08 DIFes” DB &DATNoSCDO?

Options:



Bagqal
1 = e25),&5

Dalals
2' ® ﬁﬂ“ﬁﬁﬁ

Nakhudas

3 ¢ TOTR

Tabibs
4 “ @3}853

Question Number : 70 Question Id : 7164471720 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Who among the following brought under his control certain weaver settlements in the Coromandel?

Fosaroceies D ) da gvs:mmm 206 T8 DD 9D DoDoghees s DT\ D?

Options:
Abdul Ghattur

1. = @aé:u:rﬁ b

Astrappah Chetty
7 % VFDy 3Q

Kasi Viranna

3 v 3 DODY

Mir Kamaluddin

Question Number : 71 Question Id : 7164471721 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66



Which of the following Mughal rulers was an accomplished player of Veena?
206 Dswe SresHes” D Troocoes” agnmm DD ?

Options:
Aurangzeb

1. v TCoriEen

Jahandar Shah
7 % 2rotdd ar

Muhammad Shah

3« 200G &

Shahjahan
4, » TR

Question Number : 72 Question Id : 7164471722 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following features was introduced in Mughal paintings due to contacts with Europeans?
clrF oo Dororre SO DS VSTDres” Sod D VEFON PDTDEPD?

Options:
Bird’s eye-view perspective

1 = E‘]Q;J D I SHS &0

Circular effect

‘Ebmb 5&5 220

Fore-shortening

3 W @ﬁﬁ-ﬁ“gﬂnﬁ



Use of Indian flora

4 & TPOB0D HHEere DD

Question Number : 73 Question Id : 7164471723 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following term implied hereditary lands?
308 TOS” IO TPHELO erfoen R DIFIY ATARH?

Options:
pai baqi

1. % =2er@d

sair hasil
7w Jroxd e

watan

3. v 08

zor talab

. w &0 oure

Question Number : 74 Question Id : 7164471724 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following ancestors of Shivaji was given a Mansab and Jagir by Shahjahan?
808 I QrO(EDOS” J0dS Srasii B DY) B A0 ADEID?

Options:
Babajl1

1. & erere

Maloji
7w arda



Shahaji
3 ¢ ot

Vithoji
4, = D82

Question Number : 75 Question Id : 7164471725 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66
With reference to Shivaji’s administration, which of the following pairs (Term — meaning) is NOT matched correctly?

Fared DO (080D, 306 oreed” 2 2 (Doaw - e903s300) DO m&ﬁﬁm&mcﬁﬁm?

Options:
Chitnis — Incharge of charitable grants

1 v L"JEE'};LE:: - mﬁﬁtﬁcﬁ DEoed mﬁaﬂg

Majumdar — Accountant

7 % averorrd - 950t

Sar-i-Naubat — Military Commander

I w P6-9-Terd - DodLd Earocid

Wage Navis — Incharge of intelligence, posts and household affairs

4 x D5 TOD - 200dEJy, 00 SOBOID (P SjHTFTRL DT

Question Number : 76 Question Id : 7164471726 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66



Consider the following events in the career of Shivaji:

1. Murder of Afzal Khan

12

Plunder of Surat

L]

Treaty of Purandar

The correct chronological order of the above-mentioned events is:

78 e’ 306 DoseHOR HBIDoSol:
1. e9e5 arm Ejﬂqjé
&
2. 2orod Sk

3. inCocd aﬁ):]oc:jo

2 DT R DoDDO AN, DJD SPVEATRTC0:

Options:
L2

1.v 1,23

Question Number : 77 Question Id : 7164471727 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following was the first ruler to grant East India Company of Britain the right to duty-free trade in Bengal?

206 or0e5°, DD OIS, €49 Qoo €028 Borres €5° 2oko 61D STPEIR SIS A N DD OIS DDHD?

Options:
Alivardi Khan
1 = @E)aﬁg e



Aurangzeb
7 BOoiFEeD

Farrukhsiyar

3w wOr500Ird

Murshid Kuli Khan
4 % 2008 HDars

Question Number : 78 Question Id : 7164471728 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66
Which of the following rulers abolished internal duties on trade so that Indian merchants could enjoy same privilege as East

India Company?
&) @OC0IP S0 DATIID VATT D AeTETeud) Tgaraoen Tocsidfier S0d SrohHud” O Triagon LoBdos

oTEOIA r::icmjj oy ?

Options:
Mir Jafar

1. % 06 Db

Mir Kasim

2. v 06 a0

Shuja-ud-Din Muhammad Khan
3« par-ah-80 mm&nﬁ. 2w

Siraj-ud-daula

A & Dod-ebh-For

Question Number : 79 Question Id : 7164471729 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following was the leader of the Fairaizi movement?
800 770" PO GOaD TPODLDHE IDM?

Options:



Dudu Mian
1. v 60 oS

Tipu Shah
2. ® 'Ei‘};..}}:] GJP

Tutu Mir
3 % o b

Vizier Ali
A % Deand ead

Question Number : 80 Question Id : 7164471730 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Consider the following events before the revolt of 1857:
1. Bhil uprisings
2. Poligar revolt
3. Sanyasi rebellion
4. Velu Tampi revolt

The correct chronological order of the above-mentioned events is:
1857 ADHEPLDL &AD0H DoDeIdOR HOIDocsod:

1. e SDaTPeD
2. SFOE6 Sdrbere
3. Fam"néi:- SACDETPED

4, Dew (ow SEMDETED
2 2T R DoDDO I, DFD VLTI C0:

Options:
1. % 1.3,2,4



Question Number : 81 Question Id : 7164471731 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

When did the peace treaty of Madras that ended the First Anglo-Mysore War take place?
DG esof) -2 OINEFDS A1AoR) HHSD TR Fod 2500650 JaDYED 2BH0H?

Options:
1. « 1769

7 % 1784

3 % 1792

A = 1799

Question Number : 82 Question Id : 7164471732 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66
When did Tipu Sultan issue the Hukumnamah (ordinance) that laid down the regulations for the naval programme?

POE® 5PO{EATIS DEI0GD Do RO &5 (e580) & By LD DD a0 DTed?
Options:
1. = 1787

? % 1789

3. % 1790

4. » 1796



Question Number : 83 Question Id : 7164471733 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following statements about Lord Wellesley is NOT true?
g DT DB S0d DHLDVS” DB Dao P?

Options:
He extended the interventionist policy of Sir John Shore.

1 « 26 2D T GIng), 5T DT 0D DYBoTP .

He gave new meaning and force to Clive’s policy of a Subsidiary Alliance.

S0 30E); ARG STODD DTS BB 58 BTy audodn 35D QTN 9.

2. % 2

3. %

His open imperialism had made the Company the master of India by the time of his departure.

93 P00 FPAFR(T°C0 B LIODRVBT VACIFIS E0DAD POBBTIS ARG S0od.

4, %

The British Parliament and the Company’s Court of Directors were not always in agreement with Wellesley’s imperialist
measures.

DODH G005 boIw Sond E'f 5 ZO5M DY 008, FATRTS SO[OEF IVNET I3BD0SSD.

Question Number : 84 Question Id : 7164471734 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Consider the following Marathas rulers who entered into Subsidiary Alliance:

1. Bhonsle

2. Gaekwads

3. Peshwas

4. Scindias
The correct chronological order in which these states entered into the alliance is:
2908063 E7eD0e5°8 DDI0ND 80O TT oM HBIDocod:

1. & 08
2. 05
3. Dargen
4. SHoboiren
& Traren Sredue’s HDI0DD DD STOSATAIC0:

Options:



3 v 32,14

4 = 43,21

Question Number : 85 Question Id : 7164471735 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following was the first state to be annexed under the Doctrine of Lapse?

T ‘?QE}J“D@D $00) BSI0DEICRD DGE TR0 IB?

Options:
Jhansi

1. » "B

Punjab

7 % Doawed

Sambalpur

3. W “&]0&)&5&}_’]’“5

Satara

4 @ Perd

Question Number : 86 Question Id : 7164471736 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following did NOT happen during the Governor-Generalship of Dalhousie?

cig’?a 0I0E), (16 6-209085 2D Doy 30& To8e5° DA RO ?

Options:



Beginning of railway construction

1 = 05 Qo) £s0 FC0EIRV00

Establishment of Public Works Departments in provinces
FIN0E" DDS DB}y TV T

Setting up of postal system

3« ﬁﬁ@eﬁ DFR owm

Grant of certain privileges to the upper-caste soldiers of the Bengal army

4 v B0 POJo 0TS, &) S-S0 PADHVD B b5 0O dvoedd Biwod

Question Number : 87 Question Id : 7164471737 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Mahalwari Settlement was NOT introduced in which of the following territories?
03P D O 05 300 Fromreds” I ¢ HDFTDRLIESH?

Options:
Central Provinces

1 = Sog SPDANED

Madras Presidency

= }
I 20T BT

Punjab

3 % Doared

TUnited Provinces

4 = OERBE FrDRANE

Question Number : 88 Question Id : 7164471738 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3



Correct Marks: 2 Wrong Marks: 0.66
Which of the following social groups incurred official criticism due to its reluctance to change over to settled agriculture in

the woodland Bengal?

eDOS D BorS(DE ol BorPS)S” S PSNG (gv::réonu NODED DDI0D0)3 DTCEmIS 70 DAY D

SOE0TT 808 ~PaTPeds DauTrariees” Do) eadseHY DACD @“;ﬁ&i?éd_)?

Options:
Dhangars
1 % t:’mTTDQJ
Paharias

7 DotbaiTen

Pindaris

3 % Dowrben

Santals

4' % POGPeneD

Question Number : 89 Question Id : 7164471739 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Who among the following established a Society for Social Reforms to encourage widow remarriage?
D0 YIBLTPDY @‘@hﬁ?or:}mbé Sob 7065 Ttd D6 Ve E}@“Gés (Droaws 2073),0630) F0500) DD

g"ﬁaoa"m ?

Options:
Gajananrao Vaidva

1. « (FIP T alal

Gangadhar Shastri Jambhekar

I % (o6 Tor) 20250

Jagannath Shankershet
3 x &(1) & 30506



Veeresalingam Pantulu

4. v DB3Borio Dossen

Question Number : 90 Question Id : 7164471740 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following persons laid the foundation of a reform movement in Punjab region?
306 o8¢5 Doawred aroesoes” 0,068 EEIRPDS DT DVOE IDH?

Options:
Dudu Mian

1. & oo DoairEs

Mirza Ghulam Ahmad
3 f:ugﬂ (Dero 95T 5

Shah Abdul Aziz
7 « ar €9620¢5 e925,5,

Shariat Allah
A % OIS eser

Question Number : 91 Question Id : 7164471741 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following statements about Dayanand Saraswati is NOT true?
O30S DOV DB 30HTHS” I& Do TH?

Options:
He was in favour of widow remarriage.

1 v 230000 wEboei) ?&D.ﬁﬁgaﬂﬁbé e9:08 0T &) .

He affirmed that the Vedas were the most authentic religious texts of the Hindus.

7 % PO DTFeD 0 FFAFBSN B (JOTreD D 50N DEBoTTD.



All post-Vedic developments, according to him, were accretions to be purged.

DEPH0E0 DOEFEATOD , 968 DTG0 DEFH DODDOMHD.
3 % AL > ¢

4. =

He denounced the worship of gods and goddesses and advocated the worship of the Supreme Being.

23030 5@%@ 20B050 Bedehrcd w&oﬁmﬂﬁjl DOCOTIED) B0 K}G&i}“@& ST "n}mgoa}“@.

Question Number : 92 Question Id : 7164471742 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following urged untouchables of Chhattisgarh to ritually reconstitute themselves as a pure group by means
of believing in the true God, and discarding certain impure practices?

D20 Ba)Ld Séﬁﬁaoﬁfio oo awdoin Dy B DEHBVR) D), Bodico T D06 67D e200TDTHD
QSRR DDIFETOTT 2)AB) 8) 0z Sod ar0e5° dth Eorcd?

Options:
Guru Ghasidas

1. v OO DT

Sankardev
7 % P800

Shajanand Swami

7 % nErEd0d 3“5&1

Swami Keshwanand

4 = 3“5313 E30°900

Question Number : 93 Question Id : 7164471743 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66
As the President of the Committee of Public Instruction, who among the following wrote ‘Minute on Indian Education’?

DDE ADPES £ eaCS{ KA, S0b e85 "D €30 QOO DEDFENRD A DD g d?

Options:



Lord William Bentinck

1. = E'J“g OO0 Botdhos

Thomas Babington Macaulay

7 ¢ TR eFrdodtdd DET

Warren Hastings

3 . 00 rRofy

William Adam
A =% DHDodo esco

Question Number : 94 Question Id : 7164471744 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Who among the following sent a petition to the Governor-General opposing the decision of the Committee of Public
Instruction to establish a Sanskrit college at Calcutta?

E0STES” VoS SV JTED SOIFOD) PP &' S0 DYoIED) HAGSAT S06T0S” IOD (506
2906550 2OND Do ?

Options:
Alexander Duff

1 = E'_*Jejg‘oc:ﬁ %

HH Wilson
7 % .30 &’J»:.u:;%

Iswar Chandra Vidvasagar

7 % €306 0@ DoyIeeid

Rammohan Roy

4. v TrodITEIED TR

Question Number : 95 Question Id : 7164471745 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3



Correct Marks: 2 Wrong Marks: 0.66
Which of the following historians has blamed the mutiny and the Revolt of 1857 on the ‘over-ambitious changes’

introduced by Dalhousie?

CeT"R POTD ‘©d €OTRgR) (10 Pty 1857 wre) Achrberen s0dain HETED) 206 SBGTHOS” W
DoboTrdd?

Options:
GB Malleson

1. = 2D 0500

HG Keene
7 ¢ h.S 8D

John W Kave
2P €L SO0

3. = 3

William Dalrymple

4. » 00ao tBodS

Question Number : 96 Question Id : 7164471746 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following scholars has defined the revolt of 1857 as the revolt of a ‘peasant army breaking loose from its
foreign master’?

1857 06 SrdrDerena) T pdj0 & DB anB2ATFD Mol DASFGI G308, AWDEPED D Sobd Doldrers’
REvleb! .i‘}cﬁsri')oa“d:}?

Options:
Eric Stokes

1, 05T

Rajat Kanta Ray
7 w% Cxd Hot O

Ranajit Guha
3 % Tmrad e



Richard Holmes
4 " El't:j-g ?ifiﬁcfljs

Question Number : 97 Question Id : 7164471747 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following was NOT the salient feature of the new British policy after 18577
S08 &S 1857 athare £ HOA Dordo GIE), AV ©E0 T°IE IO?

Options:
Abandonment of the policy of absorption of Indian states

POS TgPoR HBJ0 F0HI Dy HHDDDE.

Curtailment of missionary activities and reduction in public funding of mission schools

I % 00 E“G?SS@“SDP_J DEFLO BN DD PETOU D] Do Bho)

Repudiation of the reforming zeal of Bentinck era

3 x Fotdos 380 Cﬁmsb “'nJo“’nJETCSEB EE"J@QA @G‘F\%ﬁo:ﬁ{io

Restoration of certain annexed states to their former rulers

4 v %":2)1 G“EEDTSEE‘_UE‘S Dﬂau5mm PO L] S.}j“tig FPOHD) mémgﬁmcso

Question Number : 98 Question Id : 7164471748 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following was NOT a feature of the Government of India Act, 18587
308 Tre)5” 1858 2708 HEDBR o G, VL0 I TP?

Options:
Declared Queen Victoria to be the sovereign of British India

1. x DEB0IF T°ed DOQ QOCOI FOT AT DEB00O

Transfer of East India Company’s powers to the Crown

7 % D) QOC.0IF S0 HSTTRVND o/ TeiTdS eHd Sotco



Dissolution of East India Company
9 o OB Qoo 502 OGd

Provision for appointment of a Secretary of State

1 07 S°0§630) DOIFTIE oo e (T'D2D)

Question Number : 99 Question Id : 7164471749 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following persons called the revolt of 1857 the “Indian War of Independence’?

1857 =rtd Scrberena ‘ercied 5“591’905;2?5 D:m-:go* 293 DD D Daid?

Options:
Benjamin Disraeli

1. % Bo2and 639

Karl Marx
S"{;J: sﬁjﬂﬁam

RC Majumdar
3. % e36.0 Dwerord

VD Savarkar
4 % 5 T &mﬁbﬁ

Question Number : 100 Question Id : 7164471750 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following persons emphatically countered the claims of some imperial historians who saw the revolt of
1857 as Muslim conspiracy?

1857 =6 SOMEFPLDR DR LW SR Fodaod Faray H0ES Mo TGO 50d SyHo” IHm AT
D08 T ?

Options:



Jawaharlal Nehim

1. = 22505770 red 10

Sayyid Ahmad Khan
2 o OO O AT

Shah Ahmad Ali
7 ar €957 &5 e98)

Surendranath Banerjee

4 = 20BoGrd BRY

Question Number : 101 Question Id : 7164471751 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66
Which of the following first discussed the ‘safety valve theory’ about the foundation of Indian National Congress?

TR0C000R mned SRofm <0, €80 bBo) “?o%}:r JDQES f:x%j“oejo’ B0 S0d 785" DL eI ﬁﬁ&aoa“d)?

Options:
CF Andrews

1. % NOLD eS0T

Lala Lajpat Rai

7 erer O TR0

MS Golwalkar
3 % QID0CIID Ffe;lﬂsugjﬁ

R Palme Dutt
4 = es( ‘f.Jejé aLL

Question Number : 102 Question Id : 7164471752 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66



Which of the following persons wrote a book titled The Economic History of India at the beginning of the 20t century?

808 505" 202 Iy ooes” & IETFNE IR0 D RAIF DOF Yo T TW JDM?

Options:
Dadabhai Naoroji

1. & ooeron TTE

Prafulla Chandra Ray
2 g DY ol o

Romesh Chunder Dutt
3 TR dog ab

Subramnya Iyer

4 = R0RJIT €3] €040

Question Number : 103 Question 1d : 7164471753 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Carlyle Circular was issued to discourage the participation of the students in which of the following movements?

306 artdest O &rﬁgmoeﬁﬁ Dergo mﬁ&saﬁr}gﬁi DT EFOBB0D 52585 ;C}CDEI?SE'_JE 20 Boetod?

Options:
Civil Disobedience Movement

1 = FRORFYOTVR 03500

Home Rule Movement

7 % 5o ared &30

Non-Cooperation Movement

3 “ Metody DURE0s &ﬁémo



Swadeshi Movement

4 v ;:355%' €xC35a00

Question Number : 104 Question Id : 7164471754 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Consider the following statements about the dissolution of Home Rule Movement:
1. Moderates who joined the movement were pacified by the promise of reforms and by Besant’s release.
2. Annie Besant and Tilak indulged in a lot of vacillation on the question of Government reforms as well as on the
question of passive resistance.
3. Towards the end, the movement was left leaderless due to the absence of Annie Besant and Tilak.

Which of the above statement(s) is/are correct?
D) (e ecio 66 MBod S0 HELIOR DBIDocol:

1. &cﬁémoe_&" @0 Dodarcen R20RY), 0630 PTPR0 aBoiw 20080 DG (AyNey TroB0oDe M.
2. 292 B0 d0B0IL SO HIDESQ Vow),0r0 T Jren ﬁ@m@ég DDVEINZD TET EHIETP 00T .
3. DDBE, 9D B0 BT AOS TFETDE0 DY ENFIS TONEB0 Fhor Fonod.
2 g (en) ° DB/DD DBHD?
Options:
1 and 2

1. % 10080502

1 and 3
? « 1 0bosn 3

I-d

and 3
3 % 2 o0bosn 3

I

only
1 % 2OrgD

Question Number : 105 Question Id : 7164471755 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66



Consider the following movements in the career of Gandhiji:
1. Ahmedabad Mill Workers Strike
Champaran Satyagraha

I3

3. Kheda Peasant Movement

The correct chronological order of the above movements is:
rotdé, 36665° & J0b erRrv HOIDocod:

w@&mm& 0L sacsbg ‘rf::a)é
2. Soarcd St g ol
3. P G 5&5.;:13@

2 60D G308, VB TOEIFROICo:

Options:
1. = 1.2,3

2' x 1,3,2

J[.J

i3

3. v

Question Number : 106 Question Id : 7164471756 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Compared to rest, which of the following aspects of Non-cooperation movement had far greater success?
20ADH T E.?iﬁﬁ}a@, RBOD ITECE? Ec3fa0 A0S, Sob SO D6 DL, HBATEAY FAODH?

Options:
Boycott of council elections

1 = g'*a;}eﬁ Q:&lgum mﬂyﬁ%ﬂammo

Boycott of law courts

o .
2 3“5@@“@&&‘0 eIa) Boseto



Economic boycott

9 v Efgé miﬁﬁ%ﬁea

Educational bovcott

4 x &')c:r*é EJ?.PKJEJCSE’EI

Question Number : 107 Question Id : 7164471757 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

When did Gandhiji break salt law?
robed €3 PP DD EY0VOTPE?

Options:
31 January 1930

1. % 3122561930

7 March 1930
2 % T4 ma:} 1930

12 March 1930
3 % 12 m’% 1930

6 April 1930
4 v 69051930

Question Number : 108 Question Id : 7164471758 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following persons inadvertently helped in the Quit India movement through his speech?
208 5D BD Poo TrO° 3185 QOLOTT E3[E0ES” T DT JDWD VDFOLDED?

Options:
Leopold Amery

1 v &mﬁﬁgwma



Marquess of Linlithgow
RISDLE M VS BSOS

Stafford Cripps
3 % TG S

Winston Churchill

4« ORRD 3ByS

Question Number : 109 Question Id : 7164471759 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

When did the naval ratings of HMIS Talwar start their strike?
TPR)0DIR BP0 IS, D8 BNy 3”0 DAL DD POoDoI0d ?

Options:
21 November 1945

1. % 2120085 1945

11 February 1946
2 % N g0 1946

18 February 1946
3 » 18 »E0d 1946

19 February 1946
4 = 19 2ed 1946

Question Number : 110 Question Id : 7164471760 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following failed to associate with Alluri Sitarama Raju despite being rescued from police station?

ODS P oo GL0c5RIEHDVDS, B0 70 D OETRADTEERE a0 D0E JDORV0E Jadh?

Options:



Aggirazu

1' " E‘_‘JQU“E.?;‘

Gam Gantayya Dora
> % §ls} ﬁoa}oizg &0

Mattadam Virrava Dora
3 , Do tlelanvigtale

Yendu Padal
4 =% oboth Dored

Question Number : 111 Question Id : 7164471761 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following organisations participated in the council elections in 1920 in total violation of the Congress
programme of non-cooperation?

308 ‘Jao“c&})e)eﬁﬁ 26 P00 OB0E), DDFADLATE0R TE(EATD) BT &godvod 1920 &5° 280 DS (00cd)
D) S0 reiod?

Options:
Andhra Mahasabha

1 % 0@ &z

Hyderabad State Congress

7 % PCTREPS D85 5Eode

Justice Party
3 " Eé%_%ﬁ.sj ﬁ“g

Swaraj Party

4 = TS ﬁﬂg



Question Number : 112 Question Id : 7164471762 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Who was the Chairman of Committee of Action set up by the Andhra State Congress in its struggle against the Nizam

during August 19477
es(150 1947 &° Darosh HIABE0TT €506 T°F) ST00R T SR S8 5D oIFES(STjs0e SD08) BOLS IHM?

Options:
DG Bindu

1. v é&& Doco

Jamalpuram Keshava Rao

7w @20VNT0 53 T°w

Ravi Narayana Reddy
3 % T°) ~FF0P00E9 O

Swami Ramananda Tirtha

A x 5”533” TP AT00 ésg

Question Number : 113 Question Id ;: 7164471763 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

When did the Nizam sign a Standstill Agreement with the Indian Government?
Dawo a0 @@@5{:@5 DY ommnﬂga 2030630 (ol D& ef0E5)D Voo 3TW?

Options:
7 August 1947

1 x 7 o0go1947

20 November 1947
7 29 dadoead 1947

13 September 1948
3 % 13 2oeb 1948



18 September 1948
4. % 18 2oy0esb 1948

Question Number : 114 Question Id : 7164471764 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following factors was NOT responsible for the growth of early industries in England?

oTTro&eS” FP0023 DO utgcgé o6 a3’ D TG0 ST

Options:
Control over basic raw materials: coal and cotton

1 = DS H0C DETG €57 S80I DAP Datoges

Demographic advantage

7w @I POIEA0

Higher interest rates

9 008 OS¢ Gaw

Improvements in agriculture production

4 = DOTOD EB RS DWODED

Question Number : 115 Question Id : 7164471765 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66
Consider the following statements about industrialisation in USSR

. Soviet industry was focused on the production of capital goods, not on consumer items.
2. Indentured labour was extensively used in new mines, canals, logging operations and other projects.
3. Several branches of industry and infrastructure achieved higher growth compared to any other country in history has
ever achieved.
Which of the above statement(s) is/are correct?
USSR &° 2872084068 (h80<) $08 DS HBIDood:
1. FDo1S 630 DICTTATFED HWDOD SO POGD IDY ENED SR DYB.
2. §¢ rdoew, stenden, erfioll SPojSeraren 2oin A8d FEHVS’ 2006 5°8) 0/ DYBTT EDOITHEFD.
3. 98¢ 08 B0 'O DOZL BT ATDE DEVFOTL dINE), 9DE TPED 9O RNED JP&oEFO.
D %D (en) &° DB/ WBHD?

Options:



1and?2
1. % 1a080n 2

1 and 3
? « 1a000in 3

2 and 3

3. % 2000w 3

2 only

4 x 257G

Question Number : 116 Question Id : 7164471766 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following statements about the Industrial Revolution is NOT true?
AT aJadado (Do) 20O DO Dao seE0?

Options:
Industrial Revolution conferred new wealth and power upon the growing middle class.

1 = DBFDE DDHH0 DENDEVDY DGHHBONIRS Eeh 2006 DB0ID F5D ADN0d.

Western Europe became a commercial, industrial and financial society.

7 DI o8 Treday, oL S80I 508 DaATFEOTT A07B0b.

3. =

The new society. thus created. resented the restrictions imposed on trade or manufacture by the conservative
governments.

FPoDTEoNE Dbzrcen arago Jor B0 DHoND esoLe Fa Darao esgiro 2§50 wr08).



4 v

Conservative forces often contrived to win wage-earning class’s support by timely concessions to resist the demands of
the new middle class.

B¢ 0GHB60S EaToER) JOBSEEIS D5 00" T70BRD QD0 TFD° DBTED OG0 SO 2GS
ToCEPDS FoNDPOTRG FEED BOAP DIFPEED DIP0.

Question Number : 117 Question Id : 7164471767 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following factors delayed the development of competitive industry on the European continent?
038 0500 woctoed” ) HBFL DD Sob esoT0e)” DO PDJ0 DG ?

Options:
The Napoleonic wars

1 v AT ERPNIALSY

Lack of enterprising spirit

2w T yars B Jeaco

The upper classes’ contempt for profit making

3' “ e..;‘}l@ ajtgﬂm cﬁ:uS;J PO 08 &go?ﬂ;—a‘m

The need for strong agrarian societies.

4 x BODOD DFOTOD DODTL) €93V00.

Question Number : 118 Question Id : 7164471768 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66



Consider the following events related to the American Revolution:
I. Boston Massacre
2. Boston Tea Party
3. First Continental Congress

The correct chronological order of the above events is:
e00SR DDTPAS Doerofould Sod oDV DODos0A:

1. 5700 easEes
2. 590 & a9
3. 208 srodDotled SPoe
2 0DV MY, VT SOEATIC0:

Options:
1.. \J J.-. 25 3

9 x 1,32

4 % 23,1

Question Number : 119 Question Id : 7164471769 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following statements about the First Continental Congress in the American history is NOT true?
eITLOED IBgES” DG SFodD0eES SFodn DB Sodarede” D6 Dao 5¢b?
Options:

1. =

It called for the repeal of the 13 Parliament acts passed since 1763, the boycott of British goods, and the formation of
colonial militias.

1763 200c 5270000 13 argo0os PO GG DOIFOD, DB DDV mﬁﬁ%ﬁom@.ﬁ 2080 HOVT RO
D0DD0ITL TN @O DEVTDDDN0D.

2. ¢

It resolved about the formation of an organised army, the Continental Army, which was to be commanded by George
Washington.

200 700D Doty SoBDoES esb) 6D DL DAY IBYELO WD) @O HBLY,B0DA.



3. =

It sent the British king a Declaration of Rights and Grievances that stated their loyalty but condemned the Coercive Acts.

20 T8 DBODB DEYD T8 L) kD BOTW OSDEDD DELDR) DD Trerd Doaod 52D DGH0L PO

oliot)ob.

The delegates agreed to meet again in 1775 if the crisis had not been resolved.

4 = 20230 HOYBoE B 1775 &° 209y SIS HADEL 9oH8doTd.

Question Number : 120 Question Id : 7164471770 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66
Consider the following statements about the Declaratory Act of 1766:

1. The act was pushed by the British Parliament so as to cover war costs of the Seven Years War from the revenues
generated from American colonies as well as to pay for the expenses of maintaining an army to defend the colonies.

=

According to the provisions of the act, it was made mandatory for American colonies of Britain to import British
goods.

¥ ¥]

. It said that British Parliament had the right to tax and make decisions for the colonies in all cases.

Which of the above statement(s) is/are NOT true?
1766 5066 c5éy0 DB S0 HELDV DOIDocsod:

1. 2085 POV A0k Dy BEFOITY A0l JED DODSTV CIDE0 G30E) 030G N HBoLskPDS S0BOIN
SOV LTS PR DOEToDTEDS 03y HENO 2300 Do S SO0 DHA DPIR0ES DL
@8}‘30&.

2. 90 030 DG P00, DOS CIE), BBED SO DDA HDO BDDA FEDCo BNIDD
LODEIC0E.

3. ) 2ocTS” sTodw Edo Hayen By DPoiren SED IrEy) HOD JED0LL &G DF) 0.

D RELD (en) &° DO/DD Dao TED?
Options:
1 and 2

1. « 1a000in 2

land 3
? % 1a080in 3

2 and 3

3 % 20boiw 3



3 only
4. x 378

Question Number : 121 Question Id : 7164471771 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

The pamphlet Common Sense was written by:
SPE0R WY B SCDH0 FrRd0:

Options:
Benjamin Franklin

1. = B022:00 Frod3d

Hobbes
2 % 3’5585’3

Rousseau

3 & o

Thomas Paine

a

Question Number : 122 Question Id : 7164471772 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Consider the following events during the course of the French Revolution:

. Adoption of the Declaration of the Rights of Man and Citizen by Assembly

b2

Calling of Estates General by French Monarch
3. New Constitution of France

The correct chronological order of the above events is:

20D D0 DS’ G Sod DoDVLDOR DOZDoiod:
1. e7008) DO 2)ER) 20O0I W IPEN L DELRIRD ?05&15063{10
2. Dod Drar); 98 IPETy 200G 0 DdDocL
3. grdy g, Eg Teargorio

2 DOTVRDR) AINE), VJD SVEITIC0:

Options:



2 x 2,31
3 % 3,1,2
4 = 3.2.1

Question Number : 123 Question Id : 7164471773 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Consider the following events during the course of the French Revolution:
1. Fall of Bastille
2. The “Great Fear”
3. The Oath of the Tennis Court

The correct chronological order of the above events is:

20D D0 P0ES” Sod DoTVLDL DODocdod:
1. e Do
2. & “065 oHb”
3. 82D B pareeo

2 oDV AINE), VJD SVEIFI00:

Options:
1. % 2.1,3

2 x 2,31

3.. ‘\‘i-'"'-? 3-. 152

Question Number : 124 Question 1d : 7164471774 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66



Consider the following two statements in the context of the French Revolution:
I. Assertion (A): There is a direct connection between the ideas of ‘philosophes’ and the outbreak of French Revolution.
2. Reason (R): The doctrine of the ‘philosophes’ was used during the course of revolution in France, offen to justify

measures that the ‘philosophes’ themselves would have opposed.
On the basis of the above statements, it can be concluded that:

20D DTS Hoerobod) Sod Toc DELDV HOIDowod:
1. D3 dargio (A): 'BBDBO 55 SIVD, Pod DHD0 VB DAL Voerodo &od.

2. =6mo (R): PGS D0 0030085, BEST ‘BA(DG’ Traw o(BG30S SEjOM) DanGoccio E0 ‘B DI
‘?0%5"09:90 &a03rNocsed.ob).
2 V8L erroorr, HID QP BONDDN:

Options:
A s true, R is false.

1 = A ?be:ﬁﬁ.m:r, R @‘&}e:@ém

A is false, R is true.

% o A Eﬂ:ﬂ@_‘gm, R ‘&3@5&‘133

Both A and R are true and R is the correct explanation of A.

3 x A 0boin R Boco ‘5]@5&11), a0dodw R e908 A 8 20 0w

Both A and R are true, but R is not the correct explanation of A.

4 = A 20B03» R Bot 5085w, 320 R 0008 A 8 130 D0 57

Question Number : 125 Question Id : 7164471775 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following periods in the history of the French Revolution is known for the excesses of Jacobins?
20D DDD0 HBGS” 306 5Terg” IO FEDDY DL, T TOH HVE Dodod?

Options:

1. = 1789-1791

7« 1792-1794

3. % 1795-1799



A % 1800-1814

Question Number : 126 Question Id : 7164471776 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

In the context of the Unification of Italy, which of the following pairs is matched correctly?
268 D&L5ee 065608, 308 290" B VBT DB BB ?

Options:
Camillo di Cavour — Romantic adventurers and military leader

1 = 520G & I8 - FarodS eZ0IM B3 Deedd T

Giuseppe Garibaldi — King of Peidmont
9 DOIVRD rBery - DEDT0ES DY), Toe

Joseph Mazzini — Young Idealist

3 D SZD - 010D BAGHTE

Victor Emmanuel II — Prime Minister of Peidmont

4w D86 ey Rogas Il - DEQTOES AV, HTD o

Question Number : 127 Question Id : 7164471777 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Consider the following events leading to the Unification of Ttaly:
1. Failure of revolts organised under Habsburg domination
2. Fall of Naples
3. War with Austria

The correct chronological order of the above events will be:
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Question Number : 128 Question Id : 7164471778 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
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Consider the following events in the context of Unification of Germany??
1. Treaty of Frankfurt
2. Austro-Prussian War
3. Franco-Prussian War

The correct chronological order of the above events will be:
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Consider the following events in the career of Bismarck:
1. Annexation of Schleswig and Holstein
2. Baden Memorandum
3. Takeover of Alsace and Lorraine from France
The correct chronological order of the above events is:
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In the context of the First World War, consider the following events:
1. German invasion of Belgium
2. Germany’s declaration of war against France

L

. Britain’s declaration of war against Germany

The correct chronological order of the above events is:
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Question Number : 131 Question Id : 7164471781 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Consider the following statements in the context of the First World War;

1. In 1915, Britain and France attempted a landing at Gallipoli in Asia Minor.

tJ

Through Gallipoli campaign, allied powers hoped to drive Turkey from the war.

Tad

The campaign was a big success for allied powers and eased pressure on the western front.
Which of the above statement(s) is/are NOT true?
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Consider the following statements about the treaty of Versailles:
1. Estonia, Latvia and Lithuania, which had been handed over to Germany by Russia by the treaty of Brest-Litovsk,

were taken away from Germany and set up as independent states.

)

The union between Germany and Austria was forbidden.

3. The area known as Saar was to be administered by the Ieague of Nations for 20 years, when the population would be
allowed to vote on whether it should belong to France or Germany. In the meantime, France was to have the use of its
coal mines.

Which of the above statement(s) is/are true?
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Which of the following was not a consequence of First World War?
&3 306 TS DA DG HDo cingo alng) DOFITH0D T ?

Options:
The emergence of mass democracy
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Communist revolution
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Rise of fascism
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End of colonialism
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Consider the following events in the context of the Russian Revolution:
1. Spontaneous riots in Petrograd
2. Seizure of the Winter Palace by Bolsheviks
3. Return of Lenin from exile (Third)
4. Duma handover authority to provisional government

The correct chronological order of the above events is:
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Question Number : 135 Question Id : 7164471785 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
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In the context of the February Revolution of 1917, consider the following two statements labelled Assertion (A) and Reason

(R):
1. Assertion (A): The provisional government lasted only eight months before it was overthrown by a second
revolution.

]

Reason (R): The provisional government continued to follow tsarist policies leading to widening gap between
government and the masses.
On the basis of the above statements, it can be concluded that:
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Both A and R are true, and R is the correct explanation of A.
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Both A and R are true, but R is not the correct explanation of A.
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Which of the following statement/s about the October Revolution of 1917 in Russia is NOT true?
Garges” 1917 o956 Do DB Sod TrBES” D& Do T°?

Options:



1. v
The Bolshevik-directed takeover was timed to coincide with the planned meeting of the second general congress of the
soviets where Bolsheviks enjoyed majority.
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The October Revolution involved few real battles and relatively little bloodshed.
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3. %

Kerensky had lost support of the soldiers of the Petrograd who now supplied weapons to his enemies.
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The sailors of Kronstadt naval base sent the cruiser Aurora up the Neva River levelling its guns on the Winter Palace.
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When did the New Economic Policy (NEP) replace War Communism in Russia?
0argeS” o6 SRED@o Frd0e AFf IS T (ADAD) I VDFDPLEHA?
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Consider the following pairs (Event — Year) related to the career of Benito Mussolini:
1. Mussolini became prime minister of Italy — 1920
2. Failed attempt to seize island of Corfu from the Greeks — 1925
3. Conquest of Abyssinia — 1935

Which of the above pairs is/are matched correctly?
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Consider the following statements in the context of Nazism in Germany:
1. Initially the German capitalists distrusted the Nazi party because some of its leaders called for a ‘national revolution’
directed against big business.

to

The Great Depression of 1927 led to change in the views of Capitalists who thought they could use the Nazis for their
own ends.
3. The industrialists were increasingly reassured that Hitler would not damage their interests, while some saw his Storm

troopers as a useful tool in smashing the workers” movement.

Which of the above statement(s) is/are true?
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Consider the following statements about fascist movement in Italy:
1. Fascist movement had many leftist elements in it, such as support of women’s suffrage and heavy taxation of the rich.

2. Fascist leaders often supported racism and anti-Semitism.

L5 ]

Many of those initially attracted to the fascist movement were idealists, inclined to excuse its brutal methods because
Bolshevism seemed to represent a more radical moral evil

4. Fascist rule was not totally totalitarian since the Italian king, senate and a number of other institutions, including the
military retained significant independent powers.

Which of the above statements are NOT true?
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Consider the following administrative measures of Mustafa Kemal Ataturk:
1. Decree of the Abolition of Caliphate
Introduction of new system of writing for Turkish

)

Lad

Suffrage to women in local and national election
The correct chronological order of the above events is:
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The ‘Northern Expedition’ commanded by General Chiang Kai Shek began in which of the following years?
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Consider the following statements in the history of China:
1. May the Fourth Movement
2. Six Week Siege of Peking
3. The Long March

The correct chronological order of the above events is:
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Consider the following events in the history of China:
1. End of Long March
2. The defeat of Chinese Communists in Jiangxi
3. Zunyi Conference

The correct chronological order of the above events is:
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Consider the following statements in the history of modern China:

i

5

United States, after its enfry into war against Japan, supplied China substantial military aid.
Chiang Kai-Sheik did little to the war effort and preferred to hoard his military resources and used them to isolate the
Communist government at Yenan.

. With Russian help, Communist guerrillas successfully penetrated into Japanese lines and gradually secured control of

much of northern China.

Which of the above statement/s is/are true?
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Consider the following two statements labelled Assertion (A) and Reason (R) in the context of Germany:

1. Assertion (A): The German big business campaigned vigorously to break the restraints imposed by the Treaty of

Versailles.
Reason (R): Hitler's victory was a victory of those forces which wanted to solve the crisis of German capitalism by a

b

policy of military expansion.

On the basis of the above statements, it can be concluded that:
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Both A and R are true. and R is the correct explanation of A.
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4 % A 208050 R Both e85, 570 R @908 A 8 032 Dadoee 57

Question Number : 147 Question Id : 7164471797 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66



Consider the following events during the course of the Second World War:
1. Attack on Pearl Harbour
Battle of Leningrad

)

3. D-Day invasion

The correct chronological order of the above conferences is:
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Which of the following was not consequence of second world war?
SoHT DS’ DO Bokad Do g0 308, DOJOT D0 W7

Options:

1. =

Widespread collapse of far-right politics and extreme nationalism or its temporary restriction
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2.

Discontinuation of Wartime mobilization, control of resources and movement of population by governments.
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Growth of various forms of state interventionism
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Rapid decline of European colonialism
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Consider the following conferences held during the course of the Second World War:
1. Potsdam Conference
2. Tehran Conference
3. Yalta Conference

The correct chronological order of the above conferences is:
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Which of the following was not an effect of the Second World War?
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Strengthening of class and racial distinctions
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Liberating effect on the status of women
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Deeper invasion of the lands of those regarded as tribal peoples
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Beginning of ultra-modernist and so-called brutalist forms of architecture
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